28/Chem/H/ITL UG/2nd Sem/CEMH/CC-T-03/19

U.G. 2nd Semester Examination - 2019

CHEMISTRY
[HONOURS]
Course Code : CEMH/CC-T-03

Course Title : Inorganic and Physical

Full Marks : 40 ' ‘Time : 21 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

" GROUP-A

1. Answer ény one question: 1x1=1
a) Write one important difference between
oxidation number and valency.

b)  Define superacid with an example. :
2. Answer any two questions: | 2XE
a) - In the titration of 0.1M Fe*" solution with
+ 0.1(M) Ce* which indicator is suitable and why?
'b)  Explain with reason whether the p" scale can be

extended beyond 14 or not.

¢) Does metallic copper dissolve in HCI? Give
reasons. [Given B¢y = 0.34V].

[Turn Over]
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